
CAN-SO-4
CAN CONNECTED SOLENOID OUTPUT (4X)

U S E R M A N UA L
Last Updated: June 26, 2024

www.clean-logix.com
616.438.9200

REVISIONS
REV. DESCRIPTION DATE ENGINEER

A INITIAL RELEASE 11/5/2023 A. ZIEGER

PART 
NUMBER DESCRIPTION QTY. UOM

F1075 SCREW, SELF TAP, 10-16 X 1/2",  SS, TRUSS HD 4 EA

F1181 WASHER LOCK EXT TOOTH #10 SS 4 EA
F1240 SCREW, SELF-TAP, M3.12 X 5MM, SS, TORX, PAN HD 2 EA

F1275 SCREW, MACHINE, M3 X 0.50mm X 20mm, SS, PHILLIPS, EXTRA WIDE 
TRUSS HD 4 EA

F2138 SCREW, SELF TAP, #8 X 5/8", SS, PHILLIPS, PAN HD 6 EA
L0019 LABEL, CAN-SO-4 GEN2 DEVICE ID 4 EA
LABEL LABEL - SERIAL NUMBER (LABEL MAKER) 1 EA
M1603 VALVE BODY 3-WAY 4 EA

M1628 TIE ROD CAN-SO-4 2 EA

M2868 PCB CAN-SO-4 1 EA
M2927 CAN-SO-4 GEN2 ENCLOSURE FRONT, PP 1 EA
M2928 CAN-SO-4 GEN2 ENCLOSURE BACK, PP 1 EA

M2931 CAN-SO-4 GEN2 WIRE HARNESS 1 EA

M2951 CAN-SO-4 GEN2 WRENCH, SS 1 EA
M2958 CAN-SO-4 GEN2 QUICKSTART 1 EA

P1211 QUICK FIT, ADAPTER, 1/4" MNPT X 3/8" TUBE, PP BODY, EPDM SEAL, 
WHITE 2 EA

P1520 SPARTAN SCIENTIFIC 6000 SERIES OPERATOR ASSEMBLY VITON SEALS 4 EA
P1521 QUICK FIT, CARTRIDGE, 3/8" | PP2812W 4 EA
P1522 GASKET, DIN FORM A, EPDM, 18mm WIDTH 4 EA
P1524 NUT, ACORN, #10-32, SS 4 EA
P1527 O-RING, ROUND, -016, .070" X 3/4", VITON, BLACK 3 EA
P1678 DECAL, M12 CABLE WRENCH 1 EA
P2827 O-RING, ROUND, -158, .103" X 4-15/16", EPDM, BLACK 1 EA
P2828 O-RING, ROUND, 1MMX 3MM, VITON, BLACK 4 EA
P2829 NUT, COMPRESSION, 5/8" TUBE, PP, WHITE, W/ GRIPPER 2 EA
P2830 HEAT SHRINK TUBE, .531" ID TO .256" ID, .75" LONG, POLYOLEFIN, BLACK 4 EA

SHEET 2 OF 11

DATE CREATED: 9/21/2023

DRAWN BY: A. RUSCH

UNLESS OTHERWISE SPECIFIED:

SCALE:  1:2

PART NUMBER: CAN-SO-4 GEN2

FINISH: SEE COMPONENTS

MATERIAL: SEE COMPONENTS

DIMENSIONS ARE IN INCHES

TOLERANCES:

FRACTIONAL  1/16"

ANGULAR: MACH  .5    BEND 2

TWO PLACE DECIMAL     .015"

THREE PLACE DECIMAL   .005"

PROPRIETARY AND 
CONFIDENTIAL!

THE INFORMATION CONTAINED 
IN THIS DRAWING IS THE SOLE 
PROPERTY OF CLEAN-LOGIX.  
ANY REPRODUCTION IN PART 

OR AS A WHOLE WITHOUT THE 
WRITTEN PERMISSION OF 

CLEAN-LOGIX IS PROHIBITED.

WEIGHT: 0.176 (LB.)

NOTE: DEBURR AND BREAK ALL SHARP EDGES!

LAST SAVED: 6/14/2024

A A

B B

C C

D D

6

6

5

5

4

4

3

3

2

2

1

1

REV: A

CAN-SO-4 GEN2 2ND GENERATION CAN CONNECTED SOLENOID 
OUTPUT MODULE W/ FOUR MANIFOLDED 3-WAY VALVES

CAN-SO-4 solenoid device output module with 4 manifold based 
3-way valves and M12 connections for use with ALX allocation 
equipment to activate air operated pumps and valves.

Max Pressure 82 PSI
Flow Factor 0.31 Cv
Materials Body: Polypropylene

Fasteners: Stainless Steel
Seals: EPDM, Viton

Type NC, normally closed



CAN-SO-4 Gen2 User ManualClean Logix 2

 7
7
8 " 

 5
3

16 " 

 
3

16 " 

 
7

16 " 

 7
1
8 "  

3
16 "  

OUTLET PORTS (X4)
(3/8" PUSH-TO-CONNECT)

M12 CAN CABLE 

EXHAUST PORT
(1/8-27 NPT)

 1
1
4 "  1

5
16 " 

 7
1

16 " 

INLET PORT (2X) 
(3/8" PUSH TO 

CONNECT)

CABLES HIDDEN FOR CLARITY

 3
1
2 " 

 
7
8 " 

MAX PRESSURE 82 PSI

FLOW FACTOR 0.31 CV

TYPE NC, NORMALLY CLOSED

MATERIALS PP, SS, EPDM, VITON

SHEET 1 OF 11

DATE CREATED: 9/21/2023

DRAWN BY: A. RUSCH

UNLESS OTHERWISE SPECIFIED:

SCALE:  1:2

PART NUMBER: CAN-SO-4 GEN2

FINISH: SEE COMPONENTS

MATERIAL: SEE COMPONENTS

DIMENSIONS ARE IN INCHES

TOLERANCES:

FRACTIONAL  1/16"

ANGULAR: MACH  .5    BEND 2

TWO PLACE DECIMAL     .015"

THREE PLACE DECIMAL   .005"

PROPRIETARY AND 
CONFIDENTIAL!

THE INFORMATION CONTAINED 
IN THIS DRAWING IS THE SOLE 
PROPERTY OF CLEAN-LOGIX.  
ANY REPRODUCTION IN PART 

OR AS A WHOLE WITHOUT THE 
WRITTEN PERMISSION OF 

CLEAN-LOGIX IS PROHIBITED.

WEIGHT: 0.176 (LB.)

NOTE: DEBURR AND BREAK ALL SHARP EDGES!

LAST SAVED: 6/14/2024

A A

B B

C C

D D

6

6

5

5

4

4

3

3

2

2

1

1

REV: A

CAN-SO-4 GEN2 2ND GENERATION CAN CONNECTED SOLENOID 
OUTPUT MODULE W/ FOUR MANIFOLDED 3-WAY VALVES

Installation
1.	 Mount device to wall or plate 
2.	 Connect incoming air supply to side port inlet (3/8” quick fit) - either 

plug other port or use for routing airlines to other devices.
3.	 Connect outlet ports (4x 3/8” quick fit) to each pump
4.	 Connect M12 cable to ALX via CAN Device daisy-chain

•	 Fill connections with dielectric grease to prevent corrosion
•	 Tighten connections hand-tight, plus two additional clicks with a 

wrench, to ensure a good seal
•	 Last device in chain: Install blank plug in the unused M12 

connector to protect the contacts.
5.	 Review device set up for ALX controller (PRO or ELITE/LITE)

 7
7
8 " 

 5
3

16 " 

 
3

16 " 

 
7

16 " 

 7
1
8 "  

3
16 "  

OUTLET PORTS (X4)
(3/8" PUSH-TO-CONNECT)

M12 CAN CABLE 

EXHAUST PORT
(1/8-27 NPT)

 1
1
4 "  1

5
16 " 

 7
1

16 " 

INLET PORT (2X) 
(3/8" PUSH TO 

CONNECT)

CABLES HIDDEN FOR CLARITY

 3
1
2 " 

 
7
8 " 

MAX PRESSURE 82 PSI

FLOW FACTOR 0.31 CV

TYPE NC, NORMALLY CLOSED

MATERIALS PP, SS, EPDM, VITON

SHEET 1 OF 11

DATE CREATED: 9/21/2023

DRAWN BY: A. RUSCH

UNLESS OTHERWISE SPECIFIED:

SCALE:  1:2

PART NUMBER: CAN-SO-4 GEN2

FINISH: SEE COMPONENTS

MATERIAL: SEE COMPONENTS

DIMENSIONS ARE IN INCHES

TOLERANCES:

FRACTIONAL  1/16"

ANGULAR: MACH  .5    BEND 2

TWO PLACE DECIMAL     .015"

THREE PLACE DECIMAL   .005"

PROPRIETARY AND 
CONFIDENTIAL!

THE INFORMATION CONTAINED 
IN THIS DRAWING IS THE SOLE 
PROPERTY OF CLEAN-LOGIX.  
ANY REPRODUCTION IN PART 

OR AS A WHOLE WITHOUT THE 
WRITTEN PERMISSION OF 

CLEAN-LOGIX IS PROHIBITED.

WEIGHT: 0.176 (LB.)

NOTE: DEBURR AND BREAK ALL SHARP EDGES!

LAST SAVED: 6/14/2024

A A

B B

C C

D D

6

6

5

5

4

4

3

3

2

2

1

1

REV: A

CAN-SO-4 GEN2 2ND GENERATION CAN CONNECTED SOLENOID 
OUTPUT MODULE W/ FOUR MANIFOLDED 3-WAY VALVES

 7
7
8 " 

 5
3

16 " 

 
3

16 " 

 
7

16 " 

 7
1
8 "  

3
16 "  

OUTLET PORTS (X4)
(3/8" PUSH-TO-CONNECT)

M12 CAN CABLE 

EXHAUST PORT
(1/8-27 NPT)

 1
1
4 "  1

5
16 " 

 7
1

16 " 

INLET PORT (2X) 
(3/8" PUSH TO 

CONNECT)

CABLES HIDDEN FOR CLARITY

 3
1
2 " 

 
7
8 " 

MAX PRESSURE 82 PSI

FLOW FACTOR 0.31 CV

TYPE NC, NORMALLY CLOSED

MATERIALS PP, SS, EPDM, VITON

SHEET 1 OF 11

DATE CREATED: 9/21/2023

DRAWN BY: A. RUSCH

UNLESS OTHERWISE SPECIFIED:

SCALE:  1:2

PART NUMBER: CAN-SO-4 GEN2

FINISH: SEE COMPONENTS

MATERIAL: SEE COMPONENTS

DIMENSIONS ARE IN INCHES

TOLERANCES:

FRACTIONAL  1/16"

ANGULAR: MACH  .5    BEND 2

TWO PLACE DECIMAL     .015"

THREE PLACE DECIMAL   .005"

PROPRIETARY AND 
CONFIDENTIAL!

THE INFORMATION CONTAINED 
IN THIS DRAWING IS THE SOLE 
PROPERTY OF CLEAN-LOGIX.  
ANY REPRODUCTION IN PART 

OR AS A WHOLE WITHOUT THE 
WRITTEN PERMISSION OF 

CLEAN-LOGIX IS PROHIBITED.

WEIGHT: 0.176 (LB.)

NOTE: DEBURR AND BREAK ALL SHARP EDGES!

LAST SAVED: 6/14/2024

A A

B B

C C

D D

6

6

5

5

4

4

3

3

2

2

1

1

REV: A

CAN-SO-4 GEN2 2ND GENERATION CAN CONNECTED SOLENOID 
OUTPUT MODULE W/ FOUR MANIFOLDED 3-WAY VALVES



CAN-SO-4 Gen2 User ManualClean Logix 3

ALX CAN Architecture
Installation diagram shows ALX-PRO and is meant for reference 
purposes only. Review controller user manual or contact Clean Logix for 
additional support.

ALX CONTROLLER

CAN-SO-1 CAN-SO-4

115VAC
ETHERNET

COMPRESSED
AIR

ALX-MAN-X
MANIFOLD

AODD
PUMP 
>1/2" AODD

PUMP 
≤1/2"

AODD 
PUMP

AIR 
OPERATED 

VALVE

CHEM 1
SUCTION

CHEM 2
SUCTION

CHEM 3
SUCTION

WATER 
SUPPLY

DISPENSE
LINE

IVX
SENSOR



CAN-SO-4 Gen2 User ManualClean Logix 4

Valve Servicing and Replacement
1.	 Disconnect CAN cable to power down the device and remove from 

mounting position
2.	 Using the included ALX multi-tool, remove the 4x green nuts from 

the top of each solenoid (don’t lose the o-rings)
3.	 Pull down to remove the valve manifold stack from the solenoids
4.	 Using a #1 Phillips head screwdriver, remove the retaining screws 

and replace each solenoid as required
•	 Ensure the o-ring is on the retaining screw and is not torn
•	 Verify the gasket is properly installed on the solenoid terminals 

before plugging back in or replacing
5.	 Remove acorn nuts on either side of manifold stack to separate 

valves, for further disassembly if needed
6.	 Remove the black retaining nut on the top of each valve to 

disassemble the valve 
•	 Ensure nub on bottom of actuator base aligns with the holes in 

the bottom of the valve body for complete seal

B

B

D

 GRIPPER AROUND 
GROMMET 

LAST SAVED: 6/14/2024

NOTE: DEBURR AND BREAK ALL SHARP EDGES!
WEIGHT: 0.176 (LB.)

CAN-SO-4 GEN2 2ND GENERATION CAN 
CONNECTED SOLENOID OUTPUT MODULE W/ 
FOUR MANIFOLDED 3-WAY VALVES

THE INFORMATION CONTAINED 
IN THIS DRAWING IS THE SOLE 
PROPERTY OF CLEAN-LOGIX.  
ANY REPRODUCTION IN PART 

OR AS A WHOLE WITHOUT THE 
WRITTEN PERMISSION OF 

CLEAN-LOGIX IS PROHIBITED.

PROPRIETARY AND 
CONFIDENTIAL!

DIMENSIONS ARE IN INCHES

TOLERANCES:

FRACTIONAL  1/16"

ANGULAR: MACH  .5    BEND 2

TWO PLACE DECIMAL     .015"

THREE PLACE DECIMAL   .005"

MATERIAL: SEE COMPONENTS

FINISH: SEE COMPONENTS

PART NUMBER: CAN-SO-4 GEN2

SCALE:  1:2

UNLESS OTHERWISE SPECIFIED:

DRAWN BY: A. RUSCH

DATE CREATED: 9/21/2023

SHEET 9 OF 11

A A

B B

C C

D D

6

6

5

5

4

4

3

3

2

2

1

1

REV: A

PART 
NUMBER DESCRIPTION QTY.

F1180 SCREW MACHINE M3 X 18 PHILLIPS 
PAN HD ZN 4

F1181 WASHER LOCK EXT TOOTH #10 SS 4

F1182 WASHER M3 DIN 125 SS 4

M1603 VALVE BODY 3-WAY 4

M1604 ENCLOSURE CAN-SO-4 1

M1615 DECAL CAN-SO-4 1

M1625 PCB CAN-SO-4 1

M1628 TIE ROD CAN-SO-4 2

M1667 WIRING - CAN-XX-4 - HARNESS 1

P1211 QUICK FIT 1/4 NPT X 3/8 TUBE 2

P1520 VALVE COMPONENT KIT 3-WAY 
3mm 4

P1521 PUSH CONNECT CARTRIDGE 3/8" 
PP2812W 4

P1522 GASKET DIN COIL FORM A EPDM 4

P1523 SCREW #4-24 X 5/16" HI-LO PHILLIPS 
PAN ZN 6

P1524 NUT ACORN #10-32 18-8 SS 4

P1525 STANDOFF PCB M3 X 6mm NYLON 4

P1526 STANDOFF PIN PCB M3 NYLON 4

P1527 O-RING -016 VITON 3

SHEET 2 OF 8

DATE CREATED: 2/11/2015

DRAWN BY:  A. ZIEGER

UNLESS OTHERWISE SPECIFIED:

SCALE:  1:21.29

TITLE:  CAN-SO-4 ASSEMBLY REV102Material <not specified>
FINISH

MATERIAL

DIMENSIONS ARE IN INCHES
TOLERANCES:
FRACTIONAL  1/16"
ANGULAR: MACH  .5    BEND 2
TWO PLACE DECIMAL     .015"
THREE PLACE DECIMAL   .005"

PROPRIETARY AND CONFIDENTIAL!
THE INFORMATION CONTAINED 
IN THIS DRAWING IS THE SOLE 
PROPERTY OF CLEAN-LOGIX.  
ANY REPRODUCTION IN PART 
OR AS A WHOLE WITHOUT THE 
WRITTEN PERMISSION OF 
CLEAN-LOGIX IS PROHIBITED.

5 4 3 2 1

ITEM NUMBER:  CAN-SO-4
WEIGHT (LB.) NOTE: DEBURR AND BREAK ALL 

SHARP EDGES!

LAST SAVED: 3/3/2020

P1520

P1522

P1524

P1211

F1181

M1603

P1527

M1628

(SEE DETAIL BELOW)



CAN-SO-4 Gen2 User ManualClean Logix 5

Cable Replacement
1.	 Disconnect CAN cable to power down the device and remove from 

mounting position
2.	 Unscrew nut and pull down, with blue grommet, to access the 

cable’s terminal connection
3.	 Using the included ALX wrench (#M2951), or a narrow flat head 

screwdriver, push down on the top of the terminal to release it
4.	 Gently pull the cable out of the port
5.	 To reconnect, gently slide the cable into the terminal. A small click 

sound can be heard when the terminal is fully connected (a slight 
tug on the cable will ensure this as well)

6.	 Push the blue grommet back into the port with the nut and tighten 
until secure (ensure the plastic gripper is positioned around the 
grommet)

L

DETAIL L
SCALE 1 : 1

B

B

SHEET 10 OF 11

DATE CREATED: 9/21/2023

DRAWN BY: A. RUSCH

UNLESS OTHERWISE SPECIFIED:

SCALE:  1:2

PART NUMBER: CAN-SO-4 GEN2

FINISH: SEE COMPONENTS

MATERIAL: SEE COMPONENTS

DIMENSIONS ARE IN INCHES

TOLERANCES:

FRACTIONAL  1/16"

ANGULAR: MACH  .5    BEND 2

TWO PLACE DECIMAL     .015"

THREE PLACE DECIMAL   .005"

PROPRIETARY AND 
CONFIDENTIAL!

THE INFORMATION CONTAINED 
IN THIS DRAWING IS THE SOLE 
PROPERTY OF CLEAN-LOGIX.  
ANY REPRODUCTION IN PART 

OR AS A WHOLE WITHOUT THE 
WRITTEN PERMISSION OF 

CLEAN-LOGIX IS PROHIBITED.

WEIGHT: 0.176 (LB.)

NOTE: DEBURR AND BREAK ALL SHARP EDGES!

LAST SAVED: 6/14/2024

A A

B B

C C

D D

6

6

5

5

4

4

3

3

2

2

1

1

REV: A

CAN-SO-4 GEN2 2ND GENERATION CAN CONNECTED 
SOLENOID OUTPUT MODULE W/ FOUR MANIFOLDED 3-
WAY VALVES

L

DETAIL L
SCALE 1 : 1

B

B

SHEET 10 OF 11

DATE CREATED: 9/21/2023

DRAWN BY: A. RUSCH

UNLESS OTHERWISE SPECIFIED:

SCALE:  1:2

PART NUMBER: CAN-SO-4 GEN2

FINISH: SEE COMPONENTS

MATERIAL: SEE COMPONENTS

DIMENSIONS ARE IN INCHES

TOLERANCES:

FRACTIONAL  1/16"

ANGULAR: MACH  .5    BEND 2

TWO PLACE DECIMAL     .015"

THREE PLACE DECIMAL   .005"

PROPRIETARY AND 
CONFIDENTIAL!

THE INFORMATION CONTAINED 
IN THIS DRAWING IS THE SOLE 
PROPERTY OF CLEAN-LOGIX.  
ANY REPRODUCTION IN PART 

OR AS A WHOLE WITHOUT THE 
WRITTEN PERMISSION OF 

CLEAN-LOGIX IS PROHIBITED.

WEIGHT: 0.176 (LB.)

NOTE: DEBURR AND BREAK ALL SHARP EDGES!

LAST SAVED: 6/14/2024

A A

B B

C C

D D

6

6

5

5

4

4

3

3

2

2

1

1

REV: A

CAN-SO-4 GEN2 2ND GENERATION CAN CONNECTED 
SOLENOID OUTPUT MODULE W/ FOUR MANIFOLDED 3-
WAY VALVES

L

DETAIL L
SCALE 1 : 1

B

B

SHEET 10 OF 11

DATE CREATED: 9/21/2023

DRAWN BY: A. RUSCH

UNLESS OTHERWISE SPECIFIED:

SCALE:  1:2

PART NUMBER: CAN-SO-4 GEN2

FINISH: SEE COMPONENTS

MATERIAL: SEE COMPONENTS

DIMENSIONS ARE IN INCHES

TOLERANCES:

FRACTIONAL  1/16"

ANGULAR: MACH  .5    BEND 2

TWO PLACE DECIMAL     .015"

THREE PLACE DECIMAL   .005"

PROPRIETARY AND 
CONFIDENTIAL!

THE INFORMATION CONTAINED 
IN THIS DRAWING IS THE SOLE 
PROPERTY OF CLEAN-LOGIX.  
ANY REPRODUCTION IN PART 

OR AS A WHOLE WITHOUT THE 
WRITTEN PERMISSION OF 

CLEAN-LOGIX IS PROHIBITED.

WEIGHT: 0.176 (LB.)

NOTE: DEBURR AND BREAK ALL SHARP EDGES!

LAST SAVED: 6/14/2024

A A

B B

C C

D D

6

6

5

5

4

4

3

3

2

2

1

1

REV: A

CAN-SO-4 GEN2 2ND GENERATION CAN CONNECTED 
SOLENOID OUTPUT MODULE W/ FOUR MANIFOLDED 3-
WAY VALVES

L

DETAIL L
SCALE 1 : 1

B

B

SHEET 10 OF 11

DATE CREATED: 9/21/2023

DRAWN BY: A. RUSCH

UNLESS OTHERWISE SPECIFIED:

SCALE:  1:2

PART NUMBER: CAN-SO-4 GEN2

FINISH: SEE COMPONENTS

MATERIAL: SEE COMPONENTS

DIMENSIONS ARE IN INCHES

TOLERANCES:

FRACTIONAL  1/16"

ANGULAR: MACH  .5    BEND 2

TWO PLACE DECIMAL     .015"

THREE PLACE DECIMAL   .005"

PROPRIETARY AND 
CONFIDENTIAL!

THE INFORMATION CONTAINED 
IN THIS DRAWING IS THE SOLE 
PROPERTY OF CLEAN-LOGIX.  
ANY REPRODUCTION IN PART 

OR AS A WHOLE WITHOUT THE 
WRITTEN PERMISSION OF 

CLEAN-LOGIX IS PROHIBITED.

WEIGHT: 0.176 (LB.)

NOTE: DEBURR AND BREAK ALL SHARP EDGES!

LAST SAVED: 6/14/2024

A A

B B

C C

D D

6

6

5

5

4

4

3

3

2

2

1

1

REV: A

CAN-SO-4 GEN2 2ND GENERATION CAN CONNECTED 
SOLENOID OUTPUT MODULE W/ FOUR MANIFOLDED 3-
WAY VALVES

L

DETAIL L
SCALE 1 : 1

B

B

SHEET 10 OF 11

DATE CREATED: 9/21/2023

DRAWN BY: A. RUSCH

UNLESS OTHERWISE SPECIFIED:

SCALE:  1:2

PART NUMBER: CAN-SO-4 GEN2

FINISH: SEE COMPONENTS

MATERIAL: SEE COMPONENTS

DIMENSIONS ARE IN INCHES

TOLERANCES:

FRACTIONAL  1/16"

ANGULAR: MACH  .5    BEND 2

TWO PLACE DECIMAL     .015"

THREE PLACE DECIMAL   .005"

PROPRIETARY AND 
CONFIDENTIAL!

THE INFORMATION CONTAINED 
IN THIS DRAWING IS THE SOLE 
PROPERTY OF CLEAN-LOGIX.  
ANY REPRODUCTION IN PART 

OR AS A WHOLE WITHOUT THE 
WRITTEN PERMISSION OF 

CLEAN-LOGIX IS PROHIBITED.

WEIGHT: 0.176 (LB.)

NOTE: DEBURR AND BREAK ALL SHARP EDGES!

LAST SAVED: 6/14/2024

A A

B B

C C

D D

6

6

5

5

4

4

3

3

2

2

1

1

REV: A

CAN-SO-4 GEN2 2ND GENERATION CAN CONNECTED 
SOLENOID OUTPUT MODULE W/ FOUR MANIFOLDED 3-
WAY VALVES



CAN-SO-4 Gen2 User ManualClean Logix 6

F1
27

5

P2
82

8

F1
07

5

M
29

76
 

M
29

77

P1
52

2

P1
52

0

P1
21

1

M
16

84

SH
EE

T 
11

 O
F 

11

DA
TE

 C
RE

AT
ED

: 9
/2

1/
20

23

DR
AW

N
 B

Y:
 A

. R
US

CH

UN
LE

SS
 O

TH
ER

W
IS

E 
SP

EC
IF

IE
D:

SC
AL

E:
  1

:2

PA
RT

 N
UM

BE
R:

 C
AN

-S
O-

4 
G

EN
2

FI
N

IS
H

: S
EE

 C
OM

PO
N

EN
TS

M
AT

ER
IA

L:
 S

EE
 C

OM
PO

N
EN

TS

DI
M

EN
SI

ON
S 

AR
E 

IN
 IN

CH
ES

TO
LE

RA
N

CE
S:

FR
AC

TI
ON

AL
 1

/1
6"

AN
G

UL
AR

: M
AC

H
 .5

   
BE

N
D

2

TW
O

 P
LA

CE
 D

EC
IM

AL
   

 
 .0

15
"

TH
RE

E 
PL

AC
E 

DE
CI

M
AL

  
 .0

05
"

PR
O

PR
IE

TA
RY

 A
N

D
 

CO
N

FI
DE

N
TI

AL
!

TH
E 

IN
FO

RM
AT

IO
N

 C
ON

TA
IN

ED
 

IN
 T

H
IS

 D
RA

W
IN

G
 IS

 T
H

E 
SO

LE
 

PR
OP

ER
TY

 O
F 

CL
EA

N
-L

OG
IX

.  
AN

Y 
RE

PR
OD

UC
TI

ON
 IN

 P
AR

T 
O

R 
AS

 A
 W

H
O

LE
 W

IT
H

O
UT

 T
H

E 
W

RI
TT

EN
 P

ER
M

IS
SI

ON
 O

F 
CL

EA
N

-L
OG

IX
 IS

 P
RO

H
IB

IT
ED

.

W
EI

GH
T:

 0
.1

76
 (L

B.
)

N
O

TE
: D

EB
UR

R 
AN

D 
BR

EA
K 

AL
L 

SH
AR

P 
ED

G
ES

!

LA
ST

 S
AV

ED
: 6

/1
4/

20
24

A
A

B
B

C
C

D
D

66

55

44

33

22

11

RE
V:

 A

CA
N

-S
O-

4 
G

EN
2 

2N
D 

G
EN

ER
AT

IO
N

 C
AN

 C
ON

N
EC

TE
D 

SO
LE

N
OI

D 
OU

TP
UT

 M
OD

UL
E 

W
/ F

OU
R 

M
AN

IF
OL

DE
D 

3-
W

AY
 V

AL
VE

S



CAN-SO-4 Gen2 User ManualClean Logix 7

Parts

Part No. Description

F1075 SCREW, SELF TAP, 10-16 X 1/2",  SS, TRUSS HD

F1275 SCREW, MACHINE, M3 X 0.50mm X 20mm, SS, 
PHILLIPS, EXTRA WIDE TRUSS HD

F2138 SCREW, SELF TAP, #8 X 5/8", SS, PHILLIPS, PAN HD

M2951 CAN-SO-4 GEN2 WRENCH, SS

M2976 CAN-SO-4 GEN2 REPLACEMENT WIRE HARNESS W/ 
NUTS AND GROMMETS

M2977 CAN-SO-4 GEN2 REPLACEMENT ENCLOSURE WITH 
PCB, HARDWARE, AND VALVE GASKETS

P1211 QUICK FIT, ADAPTER, 1/4" MNPT X 3/8" TUBE, PP 
BODY, EPDM SEAL

P1520 SOLENOID ASSEMBLY

P1522 GASKET, DIN FORM A, EPDM, 18mm WIDTH

P1524 NUT, ACORN, #10-32, SS

P1527 O-RING, ROUND, -016, .070" X 3/4", VITON, BLACK

Please contact Clean Logix at: 
 (616)-438-9200 or sales@clean-logix.com

i More Information



Clean Logix
4928 W Greenbrooke Dr.
Grand Rapids, MI 49512

616.438.9200
www.clean-logix.com

sales@clean-logix.com


